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1. The Finance Commission
(A) draws up Five Year Plans
(B) formulates Monetary Policy

(C) recommends pay revision of
Central Government Employees

(D) adjudicates on the sharing of
resources between Centre and
the States

2. Who was the first Indian soldier to
refuse to use the greased cartridge ?

(A) Nana Saheb
(B) Bahadur Shah
(C) Mangal Pandey
(D) Tantia Tope

3,  During periods of inflation, tax rates
should
(A) increase
(B) decrease
(C) remain constant
(D) fluctuate

4. Select the related number.

25:125::36:7 ’
(A) 180 (B) 216
(C) 206 (D) 318

5. Which one set of letters when

sequentially placed at the gaps in the
given letter series shall complete it ?
y X__ZX_Y_Xy _ZXy

(A) zyyyzy (B) xyzxyz

(C) zxyzyz (D) zyxxyz

6. If in a code language, the RADIO is
written as ABCDE and BROADCAST is
written FAEBCGBHI, how is RATIO be
written in that code ?

(A) ABIDE (B) AIDBE
(C) DBEID (D) BEIDA

WL A7 ] W eAll I/ wreal 11 1wl

1.

i B R FAE
(0) % 3k T & 4 g %
%zaﬁqrﬁﬁﬂﬁﬂ%lf\/

o o FRE F T § TR

ST T MR FAel i o ?
(A) =TT e
(B) SEISY M~
(C) - | TS
(D) a2

T HFRA WA A
fy=fotaa 5 § = & ?
() e -
(B) AT,
() fer= T
(D) W@ ‘.
<eifiye T S 9T H | 25
25:125::36:7 =2 6319¢
(A) 180 - (B) 216 %" 4423
(C) 206 (D) 318 ﬁfﬁz
A T AT F Tl ™H W HH Ié'
¥ W@ W FEfafEd § § i 91 3nR-
TE I R HIM ?
Y_X_ _ZX oY _ XY _ZXY ,
(A) zyyyzy - (B) xyzxyz : :
(©) 2xy2y2 (D). 2y

i U H 99T H RADIO I ABCDE
ferar s 3R BROADCAST =i
FAEBCGBH| ferar s, @t 39 e v 3§

RATIO ot fohd W Teram st 2
(A) ABIDE .-~  (B) AIDBE
(C) DBEID (D) BEIDA
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10.

11.

12.

13,

If A'is the mother of D, B is not the son

of C, Cis the father of D, D is the sister
of B, then how is A related to B ?

(A) Mother (B) Brother

(C) Step son (D) Sister

If C = 3 and CAT = 24, what is
FAULT ?
(A) 60
(C) 64

(B) 57
(D) 72

Select the one which is different from
the other three responses.

(A) XZYP (B) ADG!)
(C) KNQT (D) EHKN
Select correct combination of

mathematical signs to replace * signs
to balance the equation

45 %5 % 3 % 27 |
(A) x=+ (B) X+=
(C) +x= (D.) =+ X

Choose the correct alternative from
the given ones that will complete the
series.

1,3,8,19,42,7
(A) 89 (8) 84
(C) 82 (D) 70

In an examination, Rahul got the 11
rank and he was 47" from the bottom
among those who passed. 3 students
could not appear for the exam. 1
student failed. What is the total no. of
students ?
(A) 60
(C) 59

(B) 62
(D) 61

If in a code language ‘PUTREFY’ is
written as ‘XPQSTRL" and ‘NAVIGATE’
is written as ‘GYMOWYQT’, how is
‘AVIARY’ written in that language ?
(A) YOMYLS (B) YMOYLS
(€) ymoysLY" (D) YOMYSL
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9.

10.

13.

12,

o A W & D W, B 31 T ¥ C FC
fir €D #, D FeT & B H, Gt A FI B &
T HaY £ 7

“(A) W (B) wi§

© dWeendm (D) FEnl

I C = 3 3R CAT = 24, T FAULT =7

s 9 #1H24121J0= 6o

(A) 60 L— (B) 57

(C) 64 D) 72

39 foehe &1 99 Sife ot 3= T 9

fir gt | |

(A) XzYP/ (B) ADGJ

(C) KNQT (D) EHKN

Tt faed & W@ wW oF 9EA,

fornt * faer & &R W qRiiag

@ FeffeTel FHIHOT & ST |

45 %5 %3 * 27

(A) x=+ (B) xX+=

(C) +x= v (D) =+x

ﬁqwﬁaﬁm‘fﬁ@wﬁﬁmqﬁm
jRrad+i=

ST A I B | i ?

1,3,8,19,42,? ANtD= 19

(A) 89 L (B) 84 (Xdt4-12

(C) 82 o) 70 42T

U T ¥ e ¢ forenfert & wge @

1197 ©F el a9r 9% 919 ¥ 479 =H
T o | A faemel v § sofeg =& @
Tk | U Taaml srawe T | faenfiay

i el HE 8 9
(A) 60 (B) 62
(C) 59 (D) 617\

4fg U e I ¥ PUTREFY’ e
S & *XPQSTRL’ 3
‘NAVIGATE' fmar smr ¢
‘GYMOWYQT', @ 3§ $ wiar o
‘AVIARY" forg Wb Tt s 2
(A) YOMYLS (B) YMOYLS
(C) YMOYSL |~ (D) YOMYSL
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0 25 ?
' 15625 - \/ 30625

15.

16.

17.

18.

19.

(A) 49
C) 2

. (B) 35
(D) None of these

At a work site, a gang of labourers

" undertake to finish certain activity in 8

hours. Unfortunately, right from the
start of the work, four of them remain
absent, but the rest manage to
complete the work in 10 hours. What
is the original number of labourers in

the gang ?
(A) 24 (B) 20
(C) 16 (D) 12

How many terms of the series 1 +3 +5
...... must be taken in order so that
the sum may be 19600 ?

(A) 140 (B) 120

(C) 240 (D) 150

Amulya alone does a piece of work in
2 days and Bindu does it in 6 days. In
how many days will the two do it
together ?

(A) 2/3 days
(C) 5/3 days

(B) 3/2 days
(D) 3days

A train M leaves Meerut at 5 a.m. and
reaches Delhi at 9 a.m. Another train
N leaves Delhi at 7 a.m. and reaches
Meerut at 10.30 a.m. At what time do
the two trains cross one another ?
(A) 8.26 a.m. (B) 8.00a.m.
(C) 7.36a.m. (D) 7.56 a.m.

Three bells toll at intervals of 9, 12
and 15 minutes respectively. All the
three begin to toll at 9 a.m. At what
time will they again toll together ?
(A) 11.30 a.m. (B) 11.45a.m.
(C) 12.00noon ' (D) 11.20a.m.

14.

15,

16.

17.

18.

19,

NN S S
15625 \/ 30625
a) 9L (B) 35
(C) 2 (D) aﬁ@ﬂ?qﬁ

Pt e W OASEd @ Sl
g 6 i faeh RRaTRed 1 T HA H
mﬁﬁﬁﬁﬁlmmﬁmﬁ
% I s she @ § 1 fe A
s 10 2 i ot 34 £ 1 el
3 st &t e dE e € 2

(A) 24 (B) 20~
(C) 16 (D) 12
SOt 143 +5 + & e 9l A
g fAT ST 9 g 19600 & e ?
(A) 140 L— (B) 120
(C) 240 (D) 150

j
ST 3Thed TeRdt b Bt 2 e | o
v afir fag 3@ 6 fet & weelt & 1 ST

firera 3@ fober Tt o Q@ 01 2
(A) 2/3%= (B) 3/2T&=
(C) 5/3f (D) 3=

QE?ET M & 5 a.m. ﬁ@’@?ﬁ%aﬁr
faeetl 9 a.m. 9 TEudi ¢ | TEA ST N

feeett 7 am. aft@isﬁ‘r%aﬂtﬁw

10.30 a.m. i 9gadl & | A AT 3 g

T UH-gE I g UM ?
(A) 8.26 a.m. (B) 8.00a.m. "'
(C) 7.36a.m. (D) 7.56 a.m.

o wfedt sheen 9, 12 wwr 15 fgel &
AN WA & | A 9 am. W
O AR et & | 3 @ e o
THATY FoT3 i ?
(A) 11.30a.m.
(C) 12.00 noon

, (B) 11.45a.m.
(D) 11.20a.m.
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3 @ wems W wew A
YHIR A 12,5 791 Uit A 10 € |

20. Find two numbers whose arithmetic 20.
mean is 12.5 and geometric mean is

=

10.

(A) 20,4 8) 15 10 (A) 20,4 () 15,-10

(C) 20,5 (D) None of these () 20,5 (D) ¥ & PR
21. The sum of the series 5 + 13 + 21 # ... 21. SU5+13+421+...+181HATE

)

++181is: (A) 2139- (B) 2476

(A) 2139 (B) 2476 (C) 2219 (D) 2337

(C) 2219 (D) 2337
22. Thomas can do a piece of work in 80 22, o T A P 80 Al B @ AR FHAE |

days. He works at it for 10 days and 98 30 F W 10 T o e & | I

then Ajay alone can finishes the 3Thot 9 Y 42 FeAl F QW AR T E

remaining work in 42 days. Together 2 et @ Foret Rt F Q@ R ?

they could complete the work in : fr

(A) 24 days (B) 25 days (A) 24fF  (B) ZSﬁq

(C) 30 days (c) 30fe (D) 35

(D) 35days

23. Two trains are moving in the same
direction at 65 kmph and 45 kmph.
The faster train crosses a man in
slower train in 18 seconds. The length

of the first train is:
(A) 120 m
(C) 100 m

(B) 180 m
(D) 145 m

24. Small Pox is caused by
(A) Rubeola Virus
(B) Variola Virus
(C) Varicella
(D) Myxovirus

25. The age of the Earth can
determined by
(A) Geological Time Scale
(B) Radio-Metric Dating
(C) Gravity method
(D) Fossilization method

26. This is a bacterial disease :
(A) Gonorrhoea
(B) Cold
(C) Malaria
(D) None of these
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23.

24.

«25.

26.

dA ww @ e d 65 FRH/A @4 45
fHml/d, = TRR Q9 W@ | o9 T
et oF, il 3 & fopdl wfem A 18
Yve H 9 H € | Teell 37 5 =g
fopert & 2

(A) 120 m (B) 180m ¢
(C) 100m (D) 145m

<= &I 1 HR0T &

(A) Sa3fien Ot

(B) %ﬁmﬁmt/

(c) e ,

(D) freremeRe

et Y g 1 FutRer fear o wwdr &

(A) SETI FH-AITs §RT

(B) fexl-dfges srer-Fuivor grr
(C) T UGl gR

(D) SiaH TRia &N

Prfife & @ @ & shamet @ &
AT T & 2
(A) T (i)



27.

28.

29.

30.

31.

32.

33.

Laughing-gas is the name given to
(A) Nitrous oxide

(B) Nitric oxide .

(C) Nitrogen trioxide

(D) Nitrogen dioxide

A red light is used in_traffic signals
because

(A) It is visible to people even with
bad eyesight.
(B) It looks beautiful.

(C) 1t has the longest wavelength

and can be seen from a long
distance. '

(D) None of the above.

Carbon monoxide is an inflammable
gas. Which one of the following is
also inflammable gas ?

(A) Helium (B) Nitrogen
(C) Oxygen (D) Hydrogen

From which part of the plant is
turmeric obtained ?

(A) Root (B) Stem
(C) Flower (D) Fruit

‘Angioplasty’ is a procedure of
clearing

(A) Gall-stone
(B) TumourlofBrain
(C) The blocked coronary arteries

* (D) Pulmonary obstruction

The main constituent of natural gas is
(A) Methane (B) Ethane
(C) Propane (D) Butane

When you break a bar magnet into
two pieces, you get

(A) one north pole and one south

pole.
(B) two iron pieces with no
magnetism.

(C) two shorter complete magnets.

(D) one piece a complete magnet and
the other simply iron.

29.

30.

31.

2 32.

a3,

(B) TR @A T |

(D) T A & FE F T |

FEA HETERE U% SHeRie 19 8 |
freffaa & ¥ @R @HE T4
I & 2

(A) Bfemm  (B) TRESH

() siem (D) | EEGNH

ot 3 R T @ e T B e & 2
(A) ?ﬁ:M (B) T
© 7= (D) w

(A) To-emmdt (Mer-Ee) @
(B) Wi & 37T i

(C) oog &g urar &
(D) FPEH i THEE i

T 19 &1 & U2 §

(A) BT~ (B) W

(C) W (D) =

w1 forelt €5 s & R ge T om §

GERYISRHGIES

(A) U I Y& IR T 207 Y=

(B) TJrereheet Tfee wile o 2t gy

(C) B ol ek —

(D) U el POl Y AR ET Sheret
m H
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ENGLISH LANGUAGE

34, An

employment advertisement
should the number of
vacancies. (Fill in the blanks)
(A) provide (B) specify
(C) contain (D) declare

~ Direction (Q. No. 35 & 36) : Choose the |
word that best expresses the meaning of

the underlined word. -
35.  I'mitching to tell you the news.
(A) feel obliged
(B) feel restless
(C) feel satisfied
(D) feel sickly

36. They are asking a grepostero.us price
for the work. '

(A) unrealistic
(B) unreasonable
(C) low

(D) absurd

Direction (Q. No. 37 & 38) : Select the
substitution that best expresses opposite
meaning of the underlined word :

37. Krishan’s remarks infuriated Chetan.
(B) insulted
(D) ‘satisfied

(A) silenced
(C) soothed

38. Repulsive

(A) Inducive (B) Dull

(C) Attentive (D) Attractive

7/2015 (13)

42. (A)

Direction (Q. No. 39 & 40) : Choose the
alternative which best expresses the
meaning of the given idiom/phrase :

39. Root and branch
(A) to collect
(B) to set ablaze.
(C) totake hint
(D) completely

40. Wild goose chase

(A) a futile and foolish search
(B) an emergency

(C) conscious of

(D) interestin

41. The good are often with

their bones. (Fill in the blanks)
(A) bury & g¥erar

(B) interred

(C) cover

(D) exhumed

Direction (Q. No. 42 & 43) : Find the
wrongly spelt word :

calculate
(B) articulate
(C) vacilate

(D) gesticulate

43, (A) careful
(B) skilfull
(C) beautiful
(D) unmindful

——



45.

47.

48.

et wren
e = W GO €
(A) HHURE

(B) TR
(C) SrRME

(D) gsiiE

foret ifereral o TR T

wifiya &% e fod |

g 9o 3 o Afed q@ S W
f& 11

(A) TTEed

(B) ¥ {H

(C) IR

(D) R

49, ‘I T TS U €

50, e i & SR B T
(a) &
(B) FHH
(c) w9
(D) SuHr

51, Fretffad # & gar ded e i A
7 '
(A) @b
(B) FRER-
() Tt
(D) SR

52. ‘fERw dafuw
(A) T EY
(B) a7aIE |y

A et

(D) 7T |

53, ‘HIC-HIE & IH] U1 e 6 3y
(A) T SRl BT o
(B) T AR HAT
(C) 3w @i | forsrar s

(D) TN & ATAT G e
T
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56.

57.

58.

59.

60.

61.

Which of the following Amendment Act
of Constitution provided a three-tier
system of Panchayati Raj in the State ?
(A) 71 (B) 72

(C) 73 (D) None of these

The Environment (Protection) Act was
enacted in

(A) 1986
(C) 2005

(B) 1996
(D) None of these

Indian Agricultural Research Institute
is situated at
(A) Lucknow
(C) Patna

(B) New Delhi
(D) Karnal

In India, Gene Bank of wheat is
located at

(A) New Delhi
(C) Kanpur

(B) Ludhiana
(D) Karnal

National Green Tribunal in India has
‘been established in the year

(A) 2009 (B8) 2010

(C) 2012 (D) 2013

On 14 April, 2016 Prime Minister
Shri Narendra - Modi launched
‘Gramodaya Se Bharat Uday’
campaign from

(A) Mhow (M.P.)

(B) lind (Haryana)

(C) Rajkot (Gujarat)

(D) Lucknow (U.P.)

In which State Simhastha Kumbh

2016 is taking place ?
(A) Haryana (B) Goa
(C) U.P. (D) M.P.

How many acre are there in one

hectare land 7 |
(A) approx. 2 acre
1

(B) approx. 2 ‘2' acre
(C) approx. 3 acre

1
(D) approx. 3'2‘ acre

. 7/2015(13)

54.

55.

56.

57.

58.

59.

60.

61.

Frfefag & @ dfaye & fea |
afyfay 3 g § By daEd T
S HEH i ?

(A) 71 (B) 72

() 73 (D) T A HE T
ygfeRuT (e Sl ] g '
(A) 19867 < (B) 1996H

(C) 2005H (D) T & FI% &
R FhT SFEYT FEH (IARI) ferm &
(A) TETH (B) 2 feweil G
(C) e (D) FEA

e, T o i a6 e §

(A) ¢ fewet -(8) A

(C) FAR (D) AT

e & et W feeger et gen Ay
(A) 2009 (B) 2010

(C) 2012 (D) 2013

14 3T, 2016 Y WU T o G WY A
Jrieg |/ YRG 7@ AEH Bl LOA

FeIH T

(A) TE@ET) L e 201
(B) 7% (&feaT™m)

(C) INTRIE (TRT)

(D) @S (3T

fagmr $v 2016 Fhw Tog # SrEE

e? .

(A) FREmm (B) 3T

(C) SN (D) "x L
et it 1 fohee TehE i € 7

(A) T 2THS

1
(B) W2§t{ﬂv_$[/
(C) « T3 ThHs

1
(D) TITHT 35 TS




62.

63.

64.

65.

66.

67.

68.

69.

Who is the Vice-Chairman of NITI
Aayog in 2015-16'?

(A) Arvind Panagariya (— -

(B) Surjit Bhalla

(C) Arvind Subramanian

(D) None of these

NLRMP stands for

(A) New Land Records
Modernization Programme

~“{B) National Land Records
Modernization Programme

~(C) National Land Revenue

Modernization Programme

(D) None of these

Which one of the following was the
first committee to give suggestions
for the development of Panchayats ?
(A) Balwant Rai Mehta Committee
(B) Ashok Mehta Committee

(C) P.K. Thungar Committee

(D) None of these

Mahatma Gandhi National Rural
Employment Guarantee Scheme was
started in the year

(A) 2005 (B) 2003
'*(C)+-2006 r (D) 2008

First  Agricultural Census was

conducted in .

(A) 1970-71 (B) 1985-86

(C) 1995-96 (D) 1981-82

National Dairy Research Institute is
situated at

(A) Anand (B) Karnal

(C), Ludhiana (D) Hisar
Nagarjuna Sagar Dam is built on the
river

(A) Godavari (B) Cauvery

(C) Krishna (D) Narmada
Which district of Haryana has highest
literacy ?

(A) Bhiwani
(C) Gurgaon

(B) Panchkula
(D) Faridabad

10

62.

63.

64.

65.

66.

67.

68.

69.
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75.

76.

77.

73.

74.

Which factory s
Faridabad ?

(A) Rubber tyre

(B) Tractor

(C) Refrigerator
(D) All of the above

situated in

Which breed of buffalo of Haryana is
considered best?

(A) Murrah (B) Turrah
(C) Chaspa (D) Puscha
State Sport of Haryana is

(A) Kabaddi (B) Cricket
(C) Hockey (D) Wrestling

Which is the main magazine of
Haryana Sahitya Academy ?

" (A) Harigandha -

(B) Haryana Sandesh
(C) Kayakalpa
(D) Panchjanya

Which is the birth place of Space
Scientist Kalpana Chawla ?

(A) Gurgaon (B) Kaithal

(C) Karnal (D) Panipat

The first battle fought in Taravadi
(Tarain) was won by whom ?

(A) Balban

(8) Hemchandra

(C) Prithviraj Chaubhan

(D) Kutbuddin Aibak

In the Battle of Independence 1857,
Rao  Tularam fought. against
Britishers in the region of

(A) Narnaul, Rewari

(B) Rohtak, Jind

(C) Kaithal, Kurukshetra

(D) Hisar, Sirsa

‘Bujani’ ornament is wear-out on the
(A) Forehead (B) Nose
(C) Neck (D) Ears

7/2015 (13)

70.

71.

72.

73.

74.

15;

76.

77.

————— e ——r—

TRIEEE | i 9 Rl € 2
(A) W

(B) $HRX

(C) TRRIET

o) SR @

Fgon @ S # B d T =
3Tt | S § 7

(A) T (B) T
| (C) =& (D) q¥=N

T T ST Bl Hi W6 ?

(A) FEE CREE

(C) e o) T

afeqon e STEEAl @ e

A

(A) #forr & (B) &R wH

(C) HramEhed (D) U=wd

Tty aFe Sedl el H FH

fopg TR | g ?

(A) e (B) HuA

() ®eE L (D) T
17 Men \A$A

WS @ § @ T W gF H
ferent foera g€ &7 2

(A) aeFa (B) ®OE=
() e e (D) T

1857 3 wamdiar gy # e e |
fery & ¥ SO o1 e 6 ?

(A) T, g

(B) Ee, T=

(C) e, FEuA

(D) feaw, fazan

(A) W& W (B) T H

(C) TRH o) wmid L—

B




T A e 2

78.

79.

80.

81.

82.

83.

84.

85.

Sohna city is famous for
(A) Lakes

(B) Hot water springs
(C) Gardens

(D) Modern Buildings

Bana Bhatta was a friend and state-
poet of the king

(A) Prithviraj Chauhan

(B) Harshwardhan

(C) Anangpal

(D) Hemchandra

Famous Indian classical vocalist
Pandit Jasraj was born in
(A) Gurgaon (B) Hisar

(C) Rohtak (D) Karnal

Saraswati Wildlife Sanctuary is in the
district of
(A) Hisar
(C) Sirsa

(B) Kaithal
(D) Palwal

As a Governor of Haryana, whose
tenure has been the longest one ?
(A) Dhanik Lal Mandal

(B) Babu Parmanand

(C) B.N. Chakravarty

(D) JaisukhLal "

Where the Indian Institute of"
Management is established ?

(A) Sonipat () Ambala

(C) Rohtak (D) Panipat

In which city of Haryana, the Metro
reached first ?
(A) Sonipat
(C) Gurgaon

(B) Rohtak
(D) Faridabad

The first woman mountaineer, who
climbs over the . Mount Everest
twice, is

(A) Santosh Yadav

(B) Sunita Sharma

(C) Malleshwari

(D) Mamta Kharab
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87.

88.

89.

90.

91.

92.

93.

In Haryana, which place is known as
‘Chhoti Kashi’ due to presence of
‘Nava Graha Kund' ?
(A) Hansi

(B) Jagadhari
(C) Gurgaon

(D) Kaithal
Sihi village is known for the birth

place of which Saint-poet ?

(A) Saint Haridas
(B) Saint Tulsidas
(C) Saint Ravidas
(D) Saint Surdas
Maharaja Agrasen is associated with
which city ?
(A) Sirsa

(B) Pehwa
(C) Rohtak

(D) Agroha

On which date Haryana got his
complete state status ?

(A) 1* November, 1966

(B) SOthJanuary, 1970

(€) 20" June, 1965

(D) 2™ October, 1968

. Which district of Haryana is 'ir_rigated

by Western Yamuna Canal ?
(A) Rohtak

(B) Sonipat

(C) Karnal

(D) All these districts

The Headquarters of which district of
Haryana is in Narnaul ?

(A) Rewari - (B) Mahendragarh
(C) Bhiwani (D) Gurgaon

Who is the Guru of Baba Ramdev ?
(A) Acharya Rajendra

(B) Swami Vivekanand

(C) Acharya Balkrishna

" (D) Acharya Baldev

Sindhara Gift, given to daughter or
sister, on the occasion of

(A) Deepawali

(B) Holi

(C) Makar Sankranti

(D) Teej ’
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94,

95.

- 96.

Planets nearest to the Sun are
(A) Mercury and Mars

(B) Mercury and Venus

(C) Earth and Mercury

(D) Mercury and Uranus

Who held the office of the Vice-
President of India for two
consecutive terms ?

(A) Dr.S. Radhakrishnan

(B) Mr. R. Venkataraman

(C) Dr.Shankar Dayal Sharma

(D) Mr. V.V. Giri

Which one of the following would

not constitute an economic activity ?

(A) A teacher teaching students in
his class

. (B) A teacher teaching students

97.

98.

99.

100.

_(A) 2019

. (A) 28"

under Sarva Shiksha Abhiyan
(C) A teacher teaching his own
daughter at home ;
(D) A teacher providing consultancy
services from his residence

What was the name accorded to the
Military Operation in Kargil in 1999 ?
(A) Operation Pawan

(B) Operation Poomalai

(C) Operation Vijay

(D) Operation Brasstacks

Who is Femina Miss India 2016 ?

" (A) Aditi Arya

(B) Pankhuri Gidwani
(C) Priyadarshini Chatterjee
(D) None of these

Union Cabinet has proposed to
provide ‘Housing For All’ by the year
(B) 2022

(C) 2025 (D) 2030

Which Amendment of ‘the Indian
Constitution inserted the two words —
‘Socialist’ and ‘Secular’ in the Preamble ?
(8) 40"

(C) 42™ (p) 52"
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100.
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